Ex9M6 MOD

5 124

3p oelileer

c

:

247

a
i
247
286
216
226

®
@
=
. —

|
EP

108

Motor operated electronic Moulded Case Circuit Breakers
i jistice s ickou spousti a i y ym pohonem
es ickou spustou a i 7 ym pohonom

|
\

70|
4p M =

wyk z napedem si
MCCB cu declansator electronic cu acfionare electrica (motor)

Disjoncteurs a boitier moulé motorisés

© moTop-npi

247

MpeKbCBaUY C enekTpoHHa sauTa
Elekironski kompakni prekidaci sa motornim pogonom
Motorral miiks ikus Bntott tok i
Lieto korpuso automatinis jungiklis su elektroniniu atkabikliu
i it BumKa ia Py
Disyuntores electronicos de caja moldeada accionados por motor

o

a

247
258
286
216
226

80

) o RO )

H
ji

|
—
|

\L \L \L 108 AX@5.5
NoOark
108
Mounting instruction Istruzioni di montaggio OFF
Montazni navod Instrucciones de montaje
Montazny navod Instalesanas instrukcijas
Instrukcja montazu Paigaldusjuhendid OFF —> Charged

Instructiuni de asamblare MontaZu upute

Montageanweisung Monteringsanvisning M5x110 4x 4x
Instructions de montage Asennusohjeita
VIHCTPYKLMS N0 MOHTaY Montage-instructies

Charged —> ON

VIHCTpYKUMY 33 UHCTanVpane Instrugdes de montagem
Uputstvo za montazu Navodila za montazo N — FF
Osszeszerelési Gtmutato OBnyieg EykardoTaong 0 6 0 d5 4x 4x ol ol
Montavimo instrukcijos Monteringsvejledningen
IHCTPYKLIsi 3 MOHTaXY

. . o OJCIOIC); d5 4x 4x
Caution: Installation by electricians only
Varovani: MontaZ pouze osobou s elektrotechnickou kvalifikaci ‘
Varovanie: Montéz smie vykonavat iba osoba s elektrotechnickou
kvalifikéciou TRIP —> OFF
Uwaga: Montaz tylko przez uprawnionych instalatoréw 23388 M5 4x 4x

Atentie: Instalare numai de catre electricieni
Vorsicht: Montage nur durch Elektrofachkrafte

Attention: Montage uniquement par un électricien ~ =

OCTOpOXHO: YCTaHOBKa AAHHOTO 0GOPYAOBAHIS NPOUIBOAUTCS TOMBKO j ]

CNeUMANMCTOM — neKTPUKOM | | | | 4x 6X
camo oT en, L.\J L.\A

Upozorenje: Montazu izvodi samo struéno lice
Figyelem: Szerelést kizarolag szakember végezheti

Démesio: montavimo darbus gali atlikti tik kvalifikuotas specialistas-
-elektrikas

OBEPEHO: MOHTAX BUKOHYE BUKITIONHO ENeKTPHK

Attenzione: L'installazione deve essere eseguita solamente da perso-
nale qualificato

Atencién: Este di debe ser ani por <p4
personal cualificado § %

8

WARRANTY ‘




Power
circuit

]

. | |
N |
| | |
. b ' o)
aF ' '
‘ - [ @@ N ‘/ ‘ Control
! } \‘\ ! circuit
. | — . o)
| * | |
I ¢ |
T T T T |
I | I | '
] N
e — |
i I
S S e .

3P

M5X110

Oy [ CEE N

) M5X110
¢ @©\, ‘@@©\

10
10
M10X40

LINE

LOAD

In order to protect the environment,
when the product or its components
are scrapped please dispose of itas
industrial waste or hand it over to the
recycling station for disaggregation,
recycling and reuse according to
relevant national regulations.

.
AT
Printed with enviroment-friendly paper
Copyright NOARK. Al Rights Reserved

NoarK

ZOMBMOD201911EU

Manufacturer: NOARK Electrics (Shanghai) Co., Ltd. 3857 Sixian Road, Songjiang District, Shanghai
Importer: NOARK Electric Europe s.r.0., Sezemicka 27572, 193 00 Praha 9, Czech Republic, www.noark-electric.eu



